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#include <iostream>
using namespace std;
/] 5 Gleladl quany LA
int factorial(int n)
{if (n>1)
{ return (n * factorial(n-1)); }
else
{return 1; }}

int main()
{int n;

cout << "Enter a non-negative number: ";

cin >>n;

cout << "Factorialof "<<n<<" ="
<<factorial(n);

return 0;}
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include <iostream> P

using namespace std; A
int fib(int n) ﬂ]l;_a_]ﬂl
{

if(n == 0) ERPPPVA|EPPREPUVE JUNDVE S JYRTYY S1-JU J
return O; fib(0) fib(1) fib(2) fib(3) fib(4) fib(5) fib(6) fib(7).... fib(n)=fib(n-1)+fib(n-2)

else |f(n == 1) 0 1 1 2 3 5 8 13 .......

return 1;
else
return fib (n-1) + fib (n-2);
}
int main()
{
int x;
cin>>x;
cout<< fib(x);

return 0;}

https://manara.edu.sy/


https://manara.edu.sy/

-

(aﬁ}mﬁé A2 D90 Zt.s:LJa) éia.wsa\.a@uy.‘a.‘\&w Sldle dclda, {45.5_.38\3 iy

L oke & Crmear Wl M) sie ey i LS

N Al olgll S 3 a b Il O 13 Logd sy mls LS
: by ALl gy moliypn 3 2 Lad) mlgtll asenal
ALl Boll) 3 Ol arar wldle cilelibs

AL 8ol § cnzmear W M) sue ALl

T T olell IS @ s w8 Gl Ul OB 13) Lagd 38 a0

Subject#1 | Subject#2 | Subject#3 | Subject#4 | Subject#5 | Subject#6
Student#1 50 67 60 76 63 72
Student#2 60 84 75 93 82 66
Student#3 50 28 74 69 63 74
Student#4 94 100 83 82 91 79
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#include <iostream>
#include <math.h>
using namespace std;

void input_marks(int marks[][6], int total_students, int total_subjects)

{

for (int row = 0; row < total_students; row++)
for (int column = 0; column < total_subjects; column++)

{

cin >> marks[row][column];

}
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void output_subject_marks(int marks[][6], int total_students, int subject)

{

for (int row = 0; row < total_students; row++)
cout << marks[row][subject] << "\t";
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int total_successful_students(int marks[][6], int total_students, int subject)

{

int count_successful = 0;
for (int row = 0; row < total students; row++)

if (marks[row][subject] >= 60)
{

count_successful++;
cout << "Student#" << row + 1 << " is a successful student" << end|l;

}

return count_successful;
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bool isTheStudentSuccess(int mat[][6], int numberOfSubject, int studentindex, int successMark){
for(int i=0; iknumberOfSubject, i++){
if(mat[studentindex][i] < successMark)
return false;

}

return true

}
S d=//
bool isTheStudentSuccessful(int mat[][6], int numberOfSubject, int studentindex, int successMark){
int numberOfPassedSubjects = 0;
for(int i=0; iknumberOfSubject, i++){
if(mat[studentindex][i] >= successMark)
numberOfPassedSubjects++;

}

return (numberOfPassedSubjects == numberOfSubject);
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int main()
{
int marks[4][6];
cout << "Question#1: Enter all student marks" << endl;
input_marks(marks, 4, 6);
int subject_index=1;
output_subject_marks(marks, 4, subject_index);
cout << endl;
cout << "Total number of succeeded students =" << total_successful students(marks,4,3) << endl;
if(isTheStudentSuccess(marks, 6, 2, 60)){
cout<< "The second student success in all his subjects" << endl|;
lelse{
cout << "The second student fail" << end];

}

return 0;}
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#include <iostream>
using namespace std;

double fn(double bill, double discount = 0.05){
return bill - bill * discount;

}

int main()

{
double bill = 5000;

cout << fn(bill) << endl;
cout << fn(bill, 0.1) << end|;

}
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